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�� �� ��� ������� �� ���� ���� � � �� ! �� ������� �� ���� ��� ����"� ��� #

B =

⎛
⎝

1 1 1
2 1 0
0 −1 1

⎞
⎠

$��� �%��&���� �%"����#

B−1 =

⎛
⎝
−1/3 2/3 1/3
2/3 −1/3 −2/3
2/3 −1/3 1/3

⎞
⎠

�� &����'� � "���� b =

⎛
⎝

4
3
2

⎞
⎠  ��� &�������� �� ���� &�����

⎛
⎝

x1
x2
x3

⎞
⎠ = B−1b =

⎛
⎝

4/3
1/3
7/3

⎞
⎠

�� &������� (�������� x4 &�'� ��� �")������ �*
����� ���'���� ��� ����������*

�� ����'���� �� ��+� �"�'�� ��'� �� &������� x4#

c̄4 = c4 − cTBB
−1A4 = 1 > 0

�� &������� x4 �� �"�'�� ��� �� ��+�* �� ���'���� �� ���� �%������� � � �� ! ���������� ����
� �%�����'� �' �����,��*
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�� 
� ������'�� ��� &�������� �%"���� x3 x4 �� x5 #

min z = −3x1 − 4x2
s.c. x1 + 2x2 + x3 = 50

x1 + x4 = 20
x2 + x5 = 30

x1 , x2 , x3 , x4 , x5 ≥ 0

�� 
� ������� �� ������' ������� �'�&��� #

T0 -

x1 x2 x3 x4 x5 θ

� � � � � .� .�
 � � � � �� �� ←
� � � � � !�
�! �/ � � � �
↑
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��� &�������� �� ���� ���� x3 x4 �� x5* �� ����� �0��1�� &����" ��� (0, 0)*

T1 -

x1 x2 x3 x4 x5 θ

� ! � �� � !� �. ←
� � � � � ��
� � � � � !� !�
� �/ � ! � 2�

↑

��� &�������� �� ���� ���� x3 x1 �� x5* �� ����� �0��1�� &����" ��� (20, 0)*

x+ =

⎛
⎜⎜⎜⎜⎝

0
0
50
20
30

⎞
⎟⎟⎟⎟⎠

+ 20

⎛
⎜⎜⎜⎜⎝

1
0
−1
−1
0

⎞
⎟⎟⎟⎟⎠

=

⎛
⎜⎜⎜⎜⎝

20
0
30
0
30

⎞
⎟⎟⎟⎟⎠

T2 -

x1 x2 x3 x4 x5

� � �3� ��3� � �.
� � � � � ��
� � ��3� �3� � �.
� � � � � ���

��� &�������� �� ���� ���� x2 x1 �� x5* �� ����� �0��1�� &����" ��� (20, 15)*

x+ =

⎛
⎜⎜⎜⎜⎝

20
0
30
0
30

⎞
⎟⎟⎟⎟⎠

+ 15

⎛
⎜⎜⎜⎜⎝

0
1
−2
0
−1

⎞
⎟⎟⎟⎟⎠

=

⎛
⎜⎜⎜⎜⎝

20
15
0
0
15

⎞
⎟⎟⎟⎟⎠

	�'� ��� ��+�� �"�'��� "���� ������4� �� ������' ��� �������* �� ���'���� �������� ���
x∗1 = 20 �� x∗2 = 15 ��'� '�� &���'� �� �� 4������� ��5����4 �� z∗ = −120*
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x1 x2 �� x3 ��� �������� �� 4����� 6'� ������ �"7'"� ��������&����� 8 ����" 9����� ��
���'�� :

d1 d2 �� d3 ��� ��'������7�� ��� �"������ ��������&�� �%����" 9����� �� ���'�� :

r1 r2 �� r3 ��� ���"�1�� ��� ��&������������ ��������4� �%����" 9����� �� ���'��*


� � ����

�



����" 9����� ���'��

d �3. !3�� �3.

r �32 !3; �

��'� �(�6'� ��������&�' �� � ��� ��������� �'�&����� #

��7��� �"����" �� '�� ���"� # di · xi
��7��� ������� �� !� �"������ # xi − di · xi
���"�1� ��<' # (xi − di · xi) · ri
��7��� ���,� ����'� �� �%���"�1� # (xi − di · xi) · (1 + ri)

=�>�� 8 ��� ��������� �� ��'� "����� �� ���7����� ���"���� 6'� �� ������� ���� �"��'���*

Max y = (1− d1)(1 + r1)x1 + (1− d2)(1 + r2)x2 + (1− d3)(1 + r3)x3
s.c. d1x1 ≤ 10

d2x2 ≤ 10
d3x3 ≤ 10

x1 + x2 + x3 ≤ 100
x1 , x2 , x3 ≥ 0

��'� 4���� ������6'� �� �&�� ��� &���'�� �'�"��6'�� �� ���7����� ���"���� �"����

Min z = −7/10x1 − x2 − 4/5x3
s.c. 2/5x1 ≤ 10

3/10x2 ≤ 10
1/5x3 ≤ 10

x1 + x2 + x3 ≤ 100
x1 , x2 , x3 ≥ 0

��'� 4���� �������� �� ���7����� ���"���� �"����

Min z = −7/10x1 − x2 − 4/5x3
s.c. 2/5x1 + x4 = 10

3/10x2 + x5 = 10
1/5x3 + x6 = 10

x1 + x2 + x3 + x7 = 100
xi ≥ 0 i ∈ {1, ..., 7}

�� ���,� �%����������� �� �%��7����(�� �' ������0� �� ���'&� x1 = 50/3 x2 = 100/3 ��
x3 = 50 �&�� z = −85*

�� ����"6'���� �� 7���������� ���� ������

∼ �2%222 ��� 8 ����" 

∼ !!%!!! ��� 8 9����� ��

.�%��� ��� 8 ���'��*

�� &� ���� ��'� �"7'�� ∼ ���%��� ��� �� 8 �� )� �� �%���"� �� ��'� ������� ?.%��� ���*
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